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Find the slope of each line... Find the slope of each line... .

Find the slope: ) . -
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Which one of these lines could it be?

Positive Negative
Sl 1
ope = ——
Pe="%
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Match: Find and interpret the slope.
The graph shows the average Refrigerator Estimated Maximum Heart
A ) electricity costs (in dollars) for _Electricity Costs : .
1) Slope = % 8 operating a refrigerator for ) : $oied 180 + {
2) Slope = 2 A several months. Find the slope & 2.7 fa.2a || g 160 +
of the line. Then tell what the T '®] / il - 140+
3)Slope =3 6 slope represents. E n? I8 §-§ 1204
4)Slope=-KD R Eg ¢ | gz o
5) Slope =-% F £ t (D Z ° % g
6) Slope = -3 C\ — R 2 ;g i
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. Which line is st ? is this line?
« SLOPE describes hcwskq aline is eeper How steep is this line?
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* Bigger slope number = steeper linel
v .

* A straight line will NEVER CHANGE SLOPE!!|

How steep is this line? Which roof is steeper? Which line is steeper?
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Find the slope... the slope of each line...
How steep is this line? e H
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